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1 iEEEREIE 79.4% 78.1% 94.7%
2-(1) HMEEHZE 84.8% 83.8% 100.0%
2-(2) tEFIBEE 87.4% 85.9% 100.0%
2-(3) BEN - BRI PIRIAY MR 69.2% 66.9% 100.0% 2-5)
2-(4) s TeE 68.0% 66.8% 100.0%
2-(5) MEFHITIRSAY N NEFIHZIE 68.4% 64.8% 100.0%
3 BEMEE HERERENEE) 85.6% 88.4% 100.0%
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1 EREEAHIE 85.6% 84.2% 100.00% 94.74% 94.74% 94.74% 94.74% 94.74%
2-(1) MEHERZE 91.8% 90.8% 100.00% 100.00% 100.00% 100.00% 100.00% 100.00%
2-(2) HEFIHEE 90.3% 89.2% 100.00% 100.00% 100.00% 100.00% 100.00% 100.00%
2-(3) THEN - HARAIT YRS A MSZ1R 79.4% 80.9% 100.00% 100.00% 100.00% 100.00% 100.00% 100.00%
2-(4) s TRE 81.5% 82.5% 100.00% 100.00% 100.00% 100.00% 100.00% 100.00%
2-(5) NEFBITILIAY N NEFPZIE 81.4% 79.5% 100.00% 100.00% 100.00% 100.00% 100.00% 100.00%
3 BEMEE HERERENTE) 84.8% 89.3% 100.00% 100.00% 100.00% 100.00% 100.00% 100.00%
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e AKX HAR E o= EiR FHE AIEF 1)1l
1 EREERHIE 94.7% 100.0% 94.7% 100.0% 94.7% 100.0% 100.0% 94.7%
2-(1) MEHERZIE 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
2-(2) tEFIHEE 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
2-(3) TIEN - IRHIT IR DAY N T’ 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
2-(4) MssT=E 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
2-(5) MEFHITIRSAS N NEFIZIE 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
3 BEMEE (HSRERENEE) 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
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TIRER BRiE =& Ze:530 BE¥
1 iEMEEREIE 94.7% 94.7% 94.7% 94.7% 100.0%
2-(1) #eEtBHc I 100.0% 100.0% 100.0% 100.0% 100.0%
2-(2) tEFIBEE 100.0% 100.0% 100.0% 100.0% 100.0%
2-(3) BIEEN - HRIGTHV T T IR DA N2 4] 100.0% 100.0% 100.0% 100.0% 100.0%
2-(4) MssT=E 100.0% 100.0% 100.0% 100.0% 100.0%
2-(5) NEFHITILIAY N NEFPZIE 100.0% 100.0% 100.0% 100.0% 100.0%
3 BEMEE HERERENEE) 100.0% 100.0% 100.0% 100.0% 100.0%
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